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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the o ption selected by the candidate

0.1 % 2017 F 8T F v @ 3T mEemr Wew (Hesh) & & § e
FRAT AT FRam 27
‘Who took charge as the new Comptroller and Auditor General (CAG) of India in 20177

Question ID :9864492295
Status :Answered
Chosen Option :1

Ans =T A

v
Rajiv Mehrishi

< 3. =
Achal Kumar Jyothi
, fea= i

X a.
Vivek Goenka

Q.2 4:37 3 = & wAT W fAme & g¥ ok o & gE & & e =
HIOT FAIT?
‘What will be the acute angle between the hour-hand and the minute-hand at 4:37 p.m.?

ans X 1.18°

Question ID :9864492773
Status :Answered
Chosen Option :4

W 2 835°
< 3650
< 418.5°

03 FHrr fRw a1v fOweal # @ el o &1 I8 1 Ouestion ID :9864493639

Status :Answered
Chosen Option :3

offetr . EFear ¢ A

Select the related word from the given alternatives:

Examination : Success :: Matches :



&< 4
Cricket

Q.4 wré 3 Teher & TR TG T AT 5 2 4 B 37T W Ny ek A Iy Y A
ST 11 : 9 §Y AR TEA F Hefrer By 3 T A g

Present ages of Sai and Satheesh are in the ratio of 5 : 4 respectively. Three years hence,

the ratio of their ages will become 11 : 9 respectively. What is Satheesh's present age in
years?

Ans X 1,22
v 2 24
X321
X 423

Question ID :9864492573
Status :Answered
Chosen Option :2

0.5 &HEr o=t #5E F I F Wy ruEEiE @R 3 0.5 ey =Er fi7 &

T FaAr e g
The kinetic energy of a ball weighing 0.5 kg moving with a velocity of & m/s will be:

Ans 12 H'F
1

124

8 el
Ko™
g8J

Question ID :9864493460
Status :Answered
Chosen Option :3

Q.6 37 ey & 97w w{ St & 7 gy ¥ Nww e & e svge §

Problem Figure

V‘j/’

N ?

Select the option that fits in the blank space in the given Problem Figure.

?
Ans
X 1 /J

(D

< 2.

L

v s

Question ID :9864494055
Status :Answered
Chosen Option :4




x o N\

Q.7 3w & fww & aqun, oy w2 () Tear ¥ Ak wafaw s (V) R @ ,
s Question ID :9864493606
According to Ohm’s law, if current (I) increases and potential difference (V) remains S WD AnEeTEE
constant, then: Chosen Option :--
Ans gfoRres Jear &
X 1 ;

resistance increases

2?&34313‘{%%%

<
potential difference decreases
x , TR seREfa e &
resistance unchanged

v gfaer & & ST &
resistance decreases

8
08 FrAT*FTH mugﬁ‘ﬁmﬁmm; Fad Question ID 19864493547

Status :Answered

How many atoms are present in one molecule of Ozone? .
Chosen Option :1

Ans X 1.2
<21
V33
X 44

Q.9 e frer wfivmr frshe & frw Tonhfosr o & ypame & o, e
T # AT T S F WY SR e i e

Which is the political party started by Telugu film actor Chiranjeevi, who later merged it )
with the Indian National Congress? Chosen Option :1

Question ID :9864492177
Status :Answered

Ans x o, T fasToT Ot
Nava Nirman Party
HTYT 9TSS 9Tt

" Andhiva Pride Party
ey, T e

: Telugu Desam Party

| 5= TEA aréf

' Praja Rajyam Party

x

x

v

10 :
Q10 T gol Era Question ID :9864492879

Status :Answered
Chosen Option :2

A1 4-2) % - 8)} =7

Solve the following:

== 2] w8} =2
ans X 1.140
X 2 -140



Vs 12
X412

0l BT F U ST O e WTJ'T T Question ID :9864492500

Status :Answered

Which of the following numbers is a perfect square?

Chosen Option :4

Ans - X 1. 333
X 2.327
< 3.192
v 4 441
0L rafataa Sofr 7 sera 31 FHr gg=naT Hi Question ID :9864494097

Status :Not Answered
Chosen Option :--

6, 12, 20, 32, 42, 56, 72
Select the WRONG number from the given series.

6, 12,20, 32,42, 56, 72
Ans X 1. 72

X 2. 56

#< 320

v 32

Q.13 R v Femenr W AR & 3 7w w5 B & 9% Aemanat # @ i @

N Cf)l Question ID :9864494245

Status :Answered
Chosen Option :3

FFTET:
Termér & faRT # aeer W ¥ 25% #r 3fx g #
Alrand:

I e g % amEeg of TEEnE = AT ST 96 S £
II. afEew & e wmuw o Bre #F 9fy s wes )

Consider the given statement and decide which of the given assumption(s) is (are)
implieit.

Statement:
The train fares have increased by 25% with immediate effect.

Assumptions:

I People still prefer travelling by train despite the increase.
II.  Other modes of commutation may also increase their fares.

Ans Xl’13ﬂ?2aﬂ’fﬁ4ﬂr—raﬁ§|

Neither assumption I nor II is implicit.
| e Awgar 2 fafga @

Only assumption IT is implicit.
| & A 1 A g

Only assumption I is implicit.

x

v



4131‘112&3’?%%3%

Both assumptions I and II are implicit.

<

Q.14 # 3relt A 3 & 15 K52 % FRed W 3R o 7 60 %k ae weEt W e

FAT g1 T ag T 2,210 H 99 FAT &, S IWHT ATRHF 3 fFaAT

Veer spends 15% of his monthly income on the house rent and 0% of the rest on
household expenditure. If he saves T 2210, what is his monthly income?

ans X 1.Z 8,000
< 2. 7,500
W 3.¥ 6,500
< 2. 7,000

Question ID :9864492607
Status :Answered
Chosen Option :3

Q.15 yrwmafer ult & F AT o Fler F el gawy @ o A /e S
farar?

Among chemical properties, Mendeleev concentrated on the compounds formed by the
elements with:

Ans . GESEC g C e
. Hydrogen and Oxygen
) gssiad R TifgTe

Hydrogen and Sodium

3 FTeeT 3T grEgi=T

x

Question ID :9864493373
Status :Answered
Chosen Option :1

< 3.
Carbon and Hydrogen
X 4 Fe AT @z
Carbon and Sodium
Q.16 ag- ﬁ-@g;r m B aal E’IHT %’ | Question ID :9864493455

reproduces by multiple fission.

Ans m
r N i
Rhizopus
v TATSHISTH
2.

Plasmodium

Status :Not Answered
Chosen Option :--

Q.17 ﬁamﬁwmojﬁs![aﬁmamml.ﬁ 2. o gl wEm e
Fifem
The product of two decimals is 0.768. If one of the decimal number is 1.6, find the other.

Ans X 1.0.47
v 2 048
< 3.0.37
< 4042

Question ID :9864492561
Status :Answered
Chosen Option :2

Q.18 TF Wi o) Tew He #H 20 FawT w9 § 25 fhee & Shvw o7 e
Ifega Femm?

A Lawn roller makes 20 revolutions in one hour. The radians it runs through 25 minutes is

Ans

Question ID :9864492476
Status :Not Answered
Chosen Option :--




2=
x 2 1507

x 3 250w

Y ST &7 7 ¥ e ey &7 797 +:Y

Question ID :9864494305
Status :Answered
Chosen Option :2

€ ¥ $ A

Select the odd character out of the following series.

€ ¥ $ A

Ans X 1€
v o A
~<39$
X o ¥

Q.20 =faflm w7 &, Tafaeg (7) # Sfte R 1w srgam, o e
eteuT B R v feest # & ety e & 99w #
A, BC, DEF, GHUJ, 2

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from the given options.

A, BC, DEF, GHIJ, ?
Aans - X 1 XYZA
< 2. TUVW
#< 3. PQRS

v KLMNO

Question ID :9864494147
Status :Answered
Chosen Option :4

Q.21 9RA H HOT FHERUS (H7¥e Tooreme) & RBEaR #= F B 2017 & W
ww #% ¥ ‘Tt Hive FE o B

‘Which major bank has lauvnched the “Unnati Credit Card® in 2017 to enhance credit
inclusion in India?

e, TR dF

Axis Bank

V> T &
SBI

X s 3T 3T 7. 3.
ICICI Bank

X T A TEH. g%
HDFC Bank

Question ID :9864492418
Status :Answered
Chosen Option :1

Q.22 TEfEe & T F 3 T e T w2, e F ¥ Gy o aE
2 8?7

‘Which is the form of energy that does NOT occur while riding a bicycle?
Ans

Question ID :9864493041
Status :Answered
Chosen Option :4




s FAT
Kinetic energy

| T FAr
Heat energy

N Tifs F=T
Mechanical energy

| TErfas AT
Chemical energy

x

<

x

v

0.23 T A Fr e, (pH) 71 3 & FE 9T (pH) AT S2eeT 6 8T AT 8. aF H* .
P G Question ID :9864493070
The pH of a solution is 3. When its pH changes to 6, then H*ion coneentration: Status :Not Answered

Ans 5|'|7:ﬂ' %_ Chosen Option :--
. 29EATES |
r T

increases 2 times

2 e AT 7 S 2

increases three times

3 1000 [T T gt ST &

decreases 1000 times
100 [T & AT &
4.,

decreases 100 times

x

v

x

Q.24 ; AEg | afEe | e i )
T | et M Question ID :9864493954
T | E e 1 % Status :Answered
A 200 150 50 - Chosen Option :4
B - 200 100 66.6
c 150 50 100 -
D 120 - 90 25
faw 7T HEt F FUR W, aET ¢ F Pfae At = e & (=
ge e quiifehe S
City | Population | Literate | Illiterate | % of
literates
A 200 150 50 .
B 2 200 100 66.6
C 150 50 100 =
D 120 3 90 25
Based on the given data, the percentage of literates in City C is (round to one
decimal).
Ans X 1.33 4
X 2323
<3345
v+ 333
Q.25 FA FF Tl THae- TRHeE § Te-Tras AR Ao, A 353 ,
F 7 TR Question ID :9864492364

Name the Indian entrepreneur, co-founder and owner of India’s low cost airline Spicelet. Status :Answered

Chosen Option :1

Ans




e fog
Ajay Singh
X o= Heodr
Vijay Mallya
3. e e
Ratan Tata
| et SR, I
Captain G.R. Gopinath

v

x

0.26 & 1 Tfew Tx B #F T 7w F P & g Ot & Fh A

AR &

gfa

-

X, Y #t TE & § & oft a7 wouw r o e 9way ey §oar 5w
HEHETH FTAT =R

QRO

bt

1. sméamdeR Sood eue T Sar ST B
2. X, Y @ & 7% HAg GA gl
Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
X advised Y that if he/she wants to study Management, he/she should join IIM.

Assumptions:
1. IIM provides good Management education.
2. X listens to the advice given by Y.

I THUNOT 2 3afafed g
Only assumption 2 is implicit.

2.;r;fr13ﬁt;razaiaﬁﬁ?r%|

Neither 1 nor 2 is implicit.
haer YR 1 afARRT
i Only assumption 1 is implicit.
1 3R 2 e qeuRome siaffed g

Both 1 and 2 are implicit.

<1

x

x

v

Question ID :9864494070
Status :Answered
Chosen Option :3

Q.27 = G Fr wF BT e Woa AregH ¥ RRe #veas & arr e 3 A 0w

Ans

e R & gl &7

‘When a ray of light travels from a denser medium to a rarer medium, it bends:

e ¥ g T AT g A
away from the normal and speeds up

§ e Fr AT TAT AT T TS F
towards the normal and speeds up
AP F g dr ol @ A

away from the normal and slows down

W 1

x

&3

Question ID :9864493224
Status :Not Answered
Chosen Option :--




Amﬁnna'#ﬁa#rawrﬁﬂﬁgraﬁh%'

towards the normal and slows down

x

028 qgefr gr=r feRlvia @Eamstt &1 Far AT g7
‘What is the mean of the first five Triangular Numbers?
Ans  of 1.7
X26
X8
X5

Question ID :9864492557
Status :Not Answered
Chosen Option :--

029 gfE cosec® + cot® = 2 @ @l cotd =?

If cosec® + cot8 = 2,thencot8 =7
Ans X:LD

X205

X1

v 4 0.75

Question ID :9864493038
Status :Not Answered
Chosen Option :--

Q-30 3T 3R 2016 H T & O ea=ags Hia o
Who was the flag bearer for India at the 2016 Rio Olympics?

ws el mfee

" Abhinav Bindra
&< 3. : 3

Saina Nehwal
or.ar. fier
4, =

P.V. Sindhu

<

Question ID :9864492270
Status :Answered
Chosen Option :2

Q.31
#feaw = Oz, Wi dee 6t § aEh oW & B seEE A E

Except Helium, all noble gases have how many electrons in the outermost shell?

Ans X 1.6
X210
Vo8
X4

Question ID :9864493514
Status :Answered
Chosen Option :3

Q.32 T wite frew sfdeen s afefd & 2017 # 92 ‘99 3% T
T R e 2

‘Which famous film actress and celebrity won the PETA ‘Person of the Year” award in
20177

' Priyanka Chopra
3TSHT oTAT
o 2
Anushka Sharma

Question ID :9864492303
Status :Answered
Chosen Option :2




3. HE
Alia Bhatt
< 4 3

| Deepika Padukone

x

Q.33 Bw 1v fawedt H & WE FATT S F IS FHY

Ans

People : Person
Choose the correct analogous word pair from the given alternatives.

People : Person

v 1. Fungus : Fungi
# 2.Cacti : Cactus
# 3. Radius : Radii
# 2. Nucleus : Nuclei

Question ID :9864493753
Status :Answered
Chosen Option :3

Q.34 T v wa F cweEE T 3 @A B s s a & v Peefaiee

Ans

FUAT F T Fta qEeT &
SpfeE §EAT A, B C, D 3 E # ¥ v W wia-gr #2

LG

1. A, B, C, D T E Tgfos s=aw #)
2. B 3WI=T H&T )

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Which of the natural numbers A, B, C, D and E are odd numbers?

Statements:

1. A, B, C, D and E are natural numbers.
2. B is a prime number.

v
RrcmaF R T FRva a1 s f 2 wem
Neither 1 nor 2 is sufficient to answer the given question.

~ 2.
BT 7TT wem # 3o 3 & AT 1 3nker gty ¥, SaiE 2 e a0
gl

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

& 3.
BT 7T 97 & Iea¥ o & AT 2 3w TUTSH ¥, Faie 1 e A {4
4]

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

y
T 71T 997 & 3eaT & F T 1 3k 2 2=t wem #

Both 1 and 2 are sufficient to answer the given question.

Question ID :9864493966
Status :Not Answered
Chosen Option :--

Q.35 #=fiiew do= & Rv rwe R S aT Te EeEE W MY U S

Ans

W T AF & e (frustum) Sar &1 Rewe (frustum) @1 agdt =aw 5
Hedex sk 2 W8T & U e i FS 7 e 11 el o
e e sl

A shuttle cock used for playing badminton has the shape of a frustum of a cone mounted
on a hemisphere. The external diameters of the frustum are Scm and 2em, the height of the
entire shuttle cock is Tem. Find the external surface area.

x 1 74.30 T WA
74.30 cm?

Question ID :9864492591
Status :Not Answered
Chosen Option :--




| 74.29 T TEEHR
74.29 cm?

_ 80 T TAHRT
80 cm?

,73.38 T AEHT

73.38 cm?

x

v

x

0.36 &1 7% of@en #, frawr 8 & ¥ St arTer A¢ 3R A wew ¥ e a6 Ee
Al IR AT #r FEm & i e g

563248880266588343

In the given series, how many 8s are there that are not divisible by the number to its left
but completely divisible by the number to its right.

563248880266588343

Ans X 1.3
v
X2
X 44

Question ID :9864494074
Status :Answered
Chosen Option :2

Q.37 10 x7mt 1 frome fomlr s & R 7pwr T 440 w1l T370 F TG A A

o7 fFrae e & g g

The selling price of an item inclusive of a 10% profit was T 440. What would be the
percentage loss if the item was sold for T 3707

Ans X 1.8
V2175
< 3.8.4
< 4 6.25

Question ID :9864492748
Status :Not Answered
Chosen Option :--

Q.38 9T TRl R WaEr &, e vweifeaw dRmwte & w=l 9w S
T qUF AT BeE saet sfgm @ ) SAe @ = ar?

Indian athlete Neeraj Chopra created history by becoming the first Indian to get gold in a
world athletics championship. What was his sport?

Ans
X1 e e
Shot put

STTeT ek
Javelin throw
CL T
Long jump
X s TFHT ek

Discus throw

v

< 3.

Question ID :9864492289
Status :Answered
Chosen Option :2

Q.39 fr 7iv fEwedt & o Fiw St e & 2 o ot w= F
o s &7

122 + 345 -1 = 1011 = 337 = ?
Select the option that can replace the “?* symbol in the following equation.

122 +345-1x 1011 +337="7

ans X 1. 446

Question ID :9864494121
Status :Answered
Chosen Option :2




W 2 464
X 3. 644
< 4 460

Q.40 =HETRYT &G #r At wgfed S 3% fom o1 o of & afome = &
AT wged awa & 1 FEoar 87

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called :

Question ID :9864493619
Status :Answered
Chosen Option :1

Ans m
r 0
momentum

Xz.m

force

FaAT

energy

i
inertia

& 3.

Q.41 v =afda 9F & 3 10 Preisier woar ¢ @ e 3w Az e ¢, fhe 8 '
foratier aoa § 3l AT ar$ 3% 333 ST & 3R 6 fReHeY Tea #1 @ OMEETEM 1% St AR

wfag aF T afas T o e feam & 32 Status :Answered

A man walks 10 kms towards east. then takes a right turn and walks 8 km and again takes Chosen Option :4
a left and walks 6 km. In which direction is the man with respect to his starting position?

e el qd

1

North east
X cfeyor gfegs

South west

; 3ca¥ qfeaH
North west

L

South east

<

42 oo Aifew F e @ Preey R v s & aET e w1
Q Question ID :9864493810

Status :Answered

TR FEh o @ § i v 7 & i ws § A @ 9 ot &y Chosen Option :3

Y A AR FAEHAT F q A FE TS 81

forsd:

1. BT A Fr G T S AR

2. mefr arat = e A S & B a3 5 i)
Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements
Poverty is increasing because politicians don’t understand poverty nor do they know
anything about the problems faced by the poor.

Conclusions:
1. All politicians should be replaced.
2. All politicians should be asked to live in poor conditions.

Ans - Faer sy 2 ITTEIOT FT §
1.

Only conclusion 2 follows



Fael sy 1 FFEIT FAT &
i Only conclusion 1 follows
1 3R 2 2 srgeer we E

Both 1 and 2 follow
A.Era’Hsﬂr;r?rzwwaﬂm%

x

x

v

Neither 1 nor 2 follows

Q.43 TEH eyt F1 T 81 F W F fore ooy & & v dv v soier e

STTE?
‘Which of the following gases is used to prevent food material from getting oxidised?

Ans x . m-ﬂﬂ

Chlorine
HEEIED]
Hydrogen
& 3.
Oxygen

CIECEL]

Nitrogen

K2

v

Question ID :9864493209
Status :Answered
Chosen Option :1

Q.44 e Ree Jeos ‘Tawrg Hfiguw Boad few s saw g e
s

The science fiction book ‘The Extra-Terrestrial Delivery® is penned by which Indian
author?

Ans x1mm

Namitha Ghokhale
garedr

2.
Sudipta Das

X3 AT AT
Anosh Irani
affaa ag

4.

Samit Basu

v

<

Question ID :9864492331
Status :Not Answered
Chosen Option :--

Q.45 z\‘;imnﬁa:rgum‘mﬂjsz ¢ o v T 1.6 @ & gl wem e
The product of two numbers is 0,432, One of the numbers is 1.6. What is the other

Question ID :9864492961
Status :Answered

number?
Ans x 1. 2.7 Chosen Option :2
v 2027
X 3.27
< 4.0.027
Q.46

Question ID :9864494133
Status :Answered
Chosen Option :4




# o & R v & T s9gea R & e @9 & fwedt & & 1

k[
SRS
33K

Answer Figures

e

w&Ear 27 - Problem Figure
et &9 - Answer Figures
Select the Answer Figure that fits in the blank space in the given Problem Figure.

K[
QORI
|| 2

Answer Figures

IRl el

A B C D
Ans KlD

X2A

v 3B

X4

Q.47 fw 1T ereEr & Wafta SIS & HUR W AR Weg T
grEeT @ e o dEefE

Select the missing word from the given related pair of words.

Ancient : Old :: Bedspread :

Ans x . 3'93'

Question ID :9864494239
Status :Answered
Chosen Option :2

048 ToraAfailra & | i € urg &1 =1 | F1T S Hehell 272
The metal that can be cut with a knife is:

Ans Jl. m

Sodinm

Question ID :9864493111
Status :Answered
Chosen Option :1




Aluminium

XA.En?'T

Iron

0.49

Ans

BrmmT A s it T I T e s R d Y
Fta W Fu T

#RfmT # wfaa wAw o gwd {1 A 2 9 39 & R e 3 s
SATET FLAT AIge?

U
1.#rziﬂ#mmww#1nﬁq§wmm
sgmF i wimt AR @R s 12a |

Consider the given question and decide which of the following statements is sufficient to
answer the question.

The trains are very punctual in Malaysia. For a maximum of hew long should Mr, Z wait
for the train?

Statements:

1. Mr. Z had reached the railways station at 10 a.m.
2. There is a train at 11 a. m. and the next train is at 12 p. m.

r N
HoheTT FUT 1 TS § AT 3hell ®UF 2 39AT g

Statement 1 alone is sufficient while statement 2 alone is insufficient.
V> gt a1 3 2 g E
Both statement 1 and 2 are sufficient.

3'Inr-|’ra:2|;r1q11‘rl$r%m2

. Either statement 1 or 2 is sufficient.

y
IO U 2 qATT § Fa 3he 1 FU 39T gl
Statement 2 alone is sufficient while 1 alone is insufficient.

Question ID :9864493653
Status :Answered
Chosen Option :2

Q.50

Ans

et &t T woAE T F e UF R WA S d9 WE el 39 e
¥ T ae e wHg

4 5 3
o=@

Use each of the below figures only once and form three groups. The three groups so

formed are:

a 5 [

=@
x1(1,3,8), (2,5,6), (4,7,9)
x2(1,5,9), (2,3,6), (4,7.8)
( )
( )

v (1,3,9), , (4,7,8)
x4.(1,3,6), (2,5,9), (4,7,8)

Question ID :9864493751
Status :Not Answered
Chosen Option :--




Q.51 Ter amer fR oty F ofomat & e ¥ o & Fhomt et € 2
In which of the flowering plants are buds produced in the notches along the leaf margin?

Ans x . a_m-r

Banana

STATHTEET

Bryophyta

Vs E E
Bryophyllum

o , DTl
4.

Eose

& 2.

Question ID :9864493317
Status :Answered
Chosen Option :2

Q.52 5 fahr wgfam fisdr =1 o sar & o fwfas 5= = frm s
aftafda s 2
When a compressed slinky is released it converts potential energy into:

Ans x EC )
1.
Mechanical energy

| A FaAT
Heat energy

| et AT
Chemical energy

| e F=i

Kinetic energy

<

x

v

Question ID :9864493582
Status :Answered
Chosen Option :4

053 gt T 3TUTTae I 8

The molecular formula of Propane is:
Ans  of 1. CyHg
> 2. CH.
< 3.CH,
X 4 CeHio

Question ID :9864493152
Status :Answered
Chosen Option :1

Q.54

Question ID :9864493676
Status :Answered
Chosen Option :1




T i 7

A | svert | qaE | @

2001| 21,500 | 200 | T500 | Z100
2002 | ¥2,600 | 300 | 600 | ¥200
2003 | £3,200 | 150 | 700 | ¥ 150
2004 | T4,100 | T250 | 650 | 125
2005| $5,000 | 200 | 800 | ¥ 150
2006| 25,200 | 2100 | 750 | 175

g

gfer a¥ g 3991, 9 2001 - 2006 & 2k foraer B

Items of Expenditure

Salary | Food | Medicine | Tax

2001 | 1,500 | T200| 500 100
2002 | 2,600 | T300| T600 £ 200
2003 |¥3.200|T150| T 700 T 150
2004 | ¥4,100 | T250| T 650 T125
2005 | T 5000 T200| T 800 g 150
2006 | ¥ 5.200| T 100 T 750 T175

Year

The average salary per year during period 2001 - 2006 is:
ans  of 13,600

X 2. 3,400
< 3. 3,800
< 4. 3,500

Q.55 arg fiveet 1 ITSTT i1 2 3 et €1 ooy & ooy @@ A

Find the fraction which is as much greater than :-, as it is less tha.nzz

Ans xlﬁ

85

X222

284

VR

24

XaZ

59

Question ID :9864492542
Status :Not Answered
Chosen Option :--

Q.56 Prafaf@d # & Fi W O & &7 & HAisEg @1 2
Which of the following is present in the centre of a flower?

Ans H=T

Question ID :9864493358
Status :Answered
Chosen Option :1

Q.57

Question ID :9864493941
Status :Answered




£

Athletc

R D plined

Boys - @8+ Girls - @sfFar Athletic - Ta=TEr Disciplined - :-I@allﬁ?r

T BU v 37 aw A, 39 gEwEt 1 S Gaer ¢ S 59 it .
zefd ¥ o spenfee adt #2

[ —— o () ——= Athlictic

P aalias [ ] ———e  Disciplined

In the above Venn diagram, what is the sum of the numbers that represent all those
athletes who are not disciplined?

ans X 1.27
X 211
VERT:
X413

Chosen Option: 3

Q.58 TfE 2sec?x - tan®x = 5 AT 0° = x = 90° g T x FT 7T FAT FEM?
If2secix - tan®x = Sand0® = x = 90°% thenx =7

Ans K 1.30°
X 2.90°
X 3. 45°
v 4600

Question ID :9864492837
Status :Not Answered
Chosen Option :--

059 2t vt & AT 2 1 3 W O 1 ¥ gl v AT W 2
The sum of two fractions is 2 One of them is % What is the other fraction?
3 2
Ans xl__
: 2
y
3 1
K3 —
10

=

12

Question ID :9864492901
Status :Answered
Chosen Option :4

Q.60 Rt et &1 Hvas geaAE 12 § i A s 4§ ods g &
1#HE (mole) & v B 3 @ &l @ wwa | #2?

Atomic mass of Carbon 15 12 and that of Helium 1s 4. State which of the following
statements 1s true for 1 mole of each of the elements?

Ans Xl-
e &1 1 A (mole) &, Fda ¥ 1 Ara (mole) & 3 71 ifde w0
g

1 mole of Helium will contain 3 times more atoms than 1 mole of Carbon.

v

Question ID :9864493408
Status :Not Answered
Chosen Option :--




el & 1 Hie (mole) #, §ifeaw F 1 A (mole) # Hhee s F1 dEwm
AT g

1 mole of Carbon will contain the same number of atoms as present in 1 mole of Helium.

& 3.

Fae % 1 A (mole) 3, 2FFRE & 1 A (mole) & wrmvEt £ Hew v
faee gein

1 mole of Carbon will contain one-third the number of atoms present in | mole of Helium.
& .

wrder 0 AT 1 (mole) A, AFTA F 1 A (mole) & 3 I i w0

e

1 mole of Carben will contain 3 times more atoms than 1 mole of Helium.

0.61 & o T 175 F T & T AT WA o] Tt Tk F Bed Fat & fore
IF T 2161 F a9 Rl drh = e whem # afy g2

Deepti bought a set of cups for T 175, but then had to sell it later to clear old stocks for T
161. What is the percentage of loss that she had to incur?

Ans  of 1.8
X< 216
X 314
X 47

Question ID :9864492688
Status :Answered
Chosen Option :1

Q.62 900 HreT #r va 2tz &, e e Fr 270 W F ai'lﬂlgsra'.‘rsmma#wﬁﬁ
T g1 FH atg # faeer Tger Y Forey et F wifaa wom

In a 900 metres race, Sathish beats Kiran by 270 metres and Rahul by 340 metres. By how
many metres does Kiran beat Rahul in the same race?

Ans X170
< 2.20
#< 3.140
v 4.100

Question ID :9864492610
Status :Not Answered
Chosen Option :--

Q.63 F=ofas & & w7 o1 o5 ot § 79 F o & oryor ey S § 2

Which one of the following derives nutrition from plants as a parasite?

Ans xl.naﬂma;r qSdr

Malaria Parasite

v hHFICT (Cuscuta)
2.

Cuscuta
SATHITIA (Bryophyllum)
| Bryophyllum

(=)

3
r VR

Lice

&3

Question ID :9864493296
Status :Not Answered
Chosen Option :--

Q.64

Question ID :9864493680
Status :Answered
Chosen Option :2




wEr o & g, S e Rrew #r s War @

Problem Figures

L ? , sld®
/N Q ?
A B [ D
Answer Figures
Cal gl =
C 416 OO & O
1 2 3 4
Choose the correct figure to replace the question mark.
Problem Figures
g ? , sl®
/N Q ?
A B C D
Answer Figures
180 "‘““”
® & O[OS & O
1 & 3 4
Ans X 1. 4
x23
Vs 2
F
.65 m—gﬂm q, 3 3W S WS & T FER Dy 7 Question ID :9864492113

. & Muslim saint, lived at the place where Fatehpur Sikri was built.

F N
Nizamuddin Auliva
X2 qUEEA =T ggar
Nasiruddin Chiragh Dehlavi
V> g o/ f=redr
Sheikh Salim Chisti
x s T FESEA
Baba Fakruddin

Status :Answered
Chosen Option :3

Q.66 afE el =T ¥ T60 H v TG F ThEAT I/ 25% A X AT Rw A
g # fawa gew Fam a7

If a person bought an item for T 60 and sold it at a profit of 25%, the selling price of the
item would be:

ans of 1. F 75
< 2.F80
X33¥72

Question ID :9864492788
Status :Answered
Chosen Option :1




X 2784

.67 =i Hr e Al Fi & & T Problem Fi Ea
o il '?“‘l;ff( nswer Figure) &Y 1§ 92t SR (Problem Figure) Question ID :9864494057

Status :Answered
Chosen Option :1

Problem Figure
Answer Figures
I

= e

| B E 5T

A B C D

‘Which of the Answer Figures is the correct water image of the given Problem Figure?

Problem Figure

4

Answer Figures

cEala
A B S D :

s X 1. C

v 2 A

X 3B
X4D

0.68 BT A o FF A& & 97 5o F v S=aam aRaT &Y
Which of the following regions has the highest potential for wind energy?

Question ID :9864493145
Status :Not Answered

Ans x am‘ﬂ;qm Chosen Option :--
1.
The Deccan Plateau
I &F HeT
2.
Gangetic planes

. IFE e REr]

<

' Western Ghats

Q.69 tafrFaT# 333 ms~* WA F WM FEN F; THTHR, 1 Gz A, 333 AT Hrglr

o FmdrE e Question ID :9864493083

TR ' Status :Not Answered
Sound travels at a speed of 333 ms™? in the air; thus, in 1 5, a distance of 333 m is X
travelled by: Chosen Option :--

Ans huT
1.
particles
& 2.
receiver
X 3. Al
source
v 37MTer
disturbance



Q.70 T 150 Frex = 7 54 Faeidiey ofa o 1 R & Te gu
TIREHH T 42 WFE # 9N F oA § a woews £ FFE e

A 150 m long train, travelling at 54 kmvh, crosses a platform in 42 seconds. What is the
length of the platform?

Ans x , 540 HIEX
540 m
480 HreT
430 m
780 HEY
780 m
630 HIEY

630 m

v

< 3

< 4

Question ID :9864492830
Status :Not Answered
Chosen Option :--

Q.71 & farer Sy wew AW ge e ooty s % sed ARed wv @ d@
ﬁcym‘fﬁﬁﬁlﬁﬁéﬁhﬁﬂﬁmmﬁl

FUA:

Fo feverar Tl #)
wafr =T ghewE o
et
1. woft arfdrer g #)
2. Fafr =y sfEeET #)

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some actors are businessmen.

All businessmen are intelligent.

Conclusions:
1. All actors are intelligent.

2. All businessmen are actors.

Ans mjaﬁtzaﬁﬂ"raawaﬂ?r%

Both 1 and 2 follow
~ 1 = %
2

| Only conclusion 1 follows
v s
Far 1 3R T & 2 3TEIT FAT ©
Neither 1 nor 2 follows

o, A TSH 2 IIgEor e §

Only conclusion 2 follows

Question ID :9864493756
Status :Answered
Chosen Option :2

Q72T 0 AR F AT sTR M3 o g iR A e e & | i, =@
a¢ a7z ¥, 4 FeT #r gt T Twan §, a0 gEar ¢ ok 6 e &
s ¥l s wrd few R fr v fr B go

Samarth heading towards north turns right after walking 10m, he turns right again walks
for 4 meters and then he tumns left and walks 6km. In which direction he is walking?

Ans qﬁaﬂ-
r 0
West

Question ID :9864494287
Status :Answered
Chosen Option :4




& 2.
North

f&q‘?

East
x4 ALY

South

Q.73 & & HFT F T & WU WEeTE e wdr et frwwr
A

The minimum number of straight lines required to construct the given figure is

Ans X 1.9
v 2. 11
<310
X412

Question ID :9864493924
Status :Answered
Chosen Option :1

Q.74 HrER ¢ TF 2.5 Hio waT &4 § S AT Fify & dgaw af o e §
= o wiEe 3t s ant g ATl e & e

‘Freedom Trail’ is a 2.5 mile long passage that offers a rich insight into the American
Revolution. In which US city would you find this famous and historic trail?

Ans m
r 0
Denver
v o e
Boston
FoATaahc

Connecticut

< .
Memphis

< 3.

Question ID :9864492122
Status :Not Answered
Chosen Option :--

Qs Fr i ds ol e A Fr s ol 5w &
ZrE ¥ 10 aF wamer wil fer i a9Ee 38w R

Krish is 5 years younger than Parthiv. Eight years ago three times the age of Krish was 10
more than twice the age of Parthiv. Find Krish's present age.

Ans
x 1 3299

'32years
x 5 3399

33 years

Question ID :9864492752
Status :Not Answered
Chosen Option :--




